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(5-3]) = 108 x 8 = 864( cm®)




ohg YA FolA 17k 2 e ol AYUAR

O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA

B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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(Z&wA o] 2ylol) = (3 He] Wol)x6
(16 x 16) x 6 = 1536( cm?)
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3m 20cm = 3.2mo|E2
A &WAA O] Bull 2% 5x 3.2 = 32(m?)
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® 240 cm? @ 300 cm? @ 360 cm?
@ 420 cm? (@)480 cm?
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(FlollA & 2eh)=(Z4Hol)

(oA 2 2eF)=(FH)
ZAylo)= (8 x8)x2+

= 128 + 352

= 480( cm?)

ol
=
o
i

(8x4)x11




